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B.A. Semester-VI Examination, 2022-23

SOCIOLOGY [Programme]

Course ID : 61114 Course Code : AP/SOC/603/GE-2
Course Title : Society in India IT

Time : 2 Hours Full Marks : 40

The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in
their own words as far as practicable.
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UNIT-1
1. Answer any five of the following questions:
2x5=10
fasfeiie @ @i vl amia Te s ¢
a) Define little tradition.
FU GOCRIR IS 7S |
b) Define Sub-caste.
IS Gtod AeR| (574 |
¢) Define Scheduled Tribes.
Toferifen el (@12 |
d) Define Varna.
Fef-aq7 wE@ (@14 |

[Turn Over]

e)

g)

h)

What is dominant caste?

Sifgeromie] ee 2

Write two disadvantages of Joint Family.
@i SRR 9o SRl @19

Define Moiety.

Moiety-43 M| (574 |

Define marriage.

ERCTREANGER
UNIT-IT

Answer any four of the following questions:

5x4=20

fwfefee @ @I R aris Ted e ¢

a)

b)

c)

d)
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What is uncoupling?
Uncoupling Ft?
Discuss the features of Dominant caste.

wifgorerie] ited @B SicEsa 391

What are the differences between Caste and

Varna?

T E G- INIER N AL F 2

What are the merits of a Joint Family?

e ifFaiER AR 1 Jie
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e) What are the causes of decline of jajmani system? B.A. Semester-VI Examination, 2022-23

ol 2ed SRefUR Fiadafe F Fe SOCIOLOGY [Programme]
f) Write down the features of modemity. Course ID : 61114 Course Code : AP/SOC/603/GE-2
Siyfeirela aRBeR @9 Course Title : Social Issues in India II
Time : 2 Hours Full Marks : 40
UNIT-1IT
The figures in the right-hand margin indicate marks.
3. Answer any one of the following questions: Candidates are required to give their answers in
10x1=10 their own words as far as practicable.
fasfie @-ie @3 amiw Ted ais ¢ wiEre-aigg Aol arsE S i |
a) What are the problems to defining Tribes? AT TP e o ek fice 2[ |

Toreifoma skeifre 3919 cFea Trmafls JF Fe

b) What is the future of caste system? Describe it. UNIT-I

SleqEd S F? SED 4| 1. Answer any five of the following questions:
2x5=10
fasfeiie @ @i vl amia Te s ¢
a) Define poverty.
wifses Ficel wie |
b) Write down the full form of STD.
STD 43 =al =g F2
c) What is poverty line?
vifsw S 2
d) When was first Five-year plan started?
G2 PR oAl T wE w2
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e)

f)

g)

h)

Write down the full form of HIV.
HIV-93 7jcal il 12
What is dowry?
AGYAT FICF AT 2
What is Sub-culture of poverty?
vifsicas Copiegie HICE A0 2
Write the full form of NREGA.
NREGA-93 ol 91l i 2

UNIT-1I

Answer any four of the following questions:

5x4=20

fwfefee @@ vafb dame Te wie ¢

2.
a)
b)
c)
d)
749/Soc.

What are the causes of unemployment in India?

SRS @0 IRl F e

Discuss the National Population Policy, 2000.

3000 HGEH GO Gy Jife SGENs S |

Discuss the nature of child labour.

e weE 9t SIETb=l el |

What are the causes of rural poverty?

1S wifsmera FiFael F Jie
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e)

f)

What are the various types of child abuse?

fAly SRR elacen o] FI Fi2

What are the consequences of drug addiction?

TvePifed Fewasl J e

UNIT-II

Answer any one of the following questions:

10x1=10

fasfafiie @@ @b g Ted nie ¢

a)

What are the policies taken by the government

to reduce poverty?

ATy TR 10 TR F9P 21O F0poIafet
e

b) Discuss the nature and causes of women abuse.
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